CONTRACT INFO SHEET

Monroe County Division of Purchasing
200 County Office Building, Rochester NY 14614

DATE: December 21, 2011

BID TITLE:

BID PROJECT:
CONTRACT DATES:
BUYER:

PHONE:
FAX:

VENDOR(S):

CAHNGES AS FOLLOWS:

XC: BP FILE
BUYER
VENDOR
S. WILCOX

CONTRACT EXTENSION

FASTENERS

#0619-07 (SAP Contract #4700006360)
7/18/2007 — 7/31/2012

Phil DiFrancesco
585-753-1130
585-324-4278

#108425

Fasteners Direct

545 Basket Road
Webster, NY 14580-9610

Contract has been extended through July 31, 2012

Phil DiFrancesco
Buyer



BID ITEM:
FOR:

DUPLICATE COPIES:

- BID INFORMATION:

SUBMITTAL OF

FORMAL PROPOSAL:

 SPECIFICATION
ALTERATIONS:

QUANTITIES:

BRAND REFERENCE:

TERMS AND CONDITIONS

FASTENERS
VARIOUS AGENCIES

PLEASE SUBMIT YOUR BID IN DUPLICATE; THE ORIGINAL AND ONE (1)
COPY. : ‘

At the time of bid, the bidder shall supply detailed specifications covéring the
item(s) contained herein, and shall clearly indicate any areas in which item or
items offered do not fully comply with the specifications contained herein.

‘Bid proposal must be legible and subrﬁitted in.the original form, bearing an

original signature. COPIES AND FACSIMILES ARE NOT ACCEPTABLE.

| All bidders must submit proof thét,they have obtained the required Worker's
- Compensation and disability benefits coverage or proof that they are
exempt. '

Specifications will be construed to be complete and be considered the entire -
description of the goods or services upon which Monroe County is now
seeking bids. Only formal written addenda can materially alter this set of
specifications. No verbal statement made by a Monroe County employee or
anyone else is binding nor shall such statement be considered an official part
of this public bid proposal. '

The quantities listed are the estimated annual reduirements and should not be
construed to represent either maximum or minimum quantities to be ordered

during the contract term. Estimates are based upon actual annual usaqe
for 2003-2006 by County departments only.

References to a manufacturer's product by brand name or number are done
solely to establish the minimum quality and performance characteristics
required. Bidders may submit bids on alternates, but must attach two (2)
copies of manufacturer specifications for any alternate at the time of the bid.

" Further, the bidder must demonstrate that the alternate proposed has a

sufficient operating track record to show the equipment will perform per the
specified brand. The acceptance of a bidder's alternate rests solely with
Monroe County. ‘ ‘



QUALIFIED BIDDER:

METHOD OF
AWARD:

CONTRACT TERM:

PRICE CHANGES:

MINIMUM ORDER:

DELIVERY:

PURCHASE ORDER

. ISSUANCE:

‘Each bidder i’n‘ust be prepared to present satisfactory proof of his capacity and

ability to perform this contract. Such proof may include, but is not limited to,
an inspection of the bidder's facilities and equipment, financial statements,
references and performance of similar contracts. The Purchasing Manager
reserves the right to reject any bid where the bidder cannot satisfy the

_ County as to his ability to perform. Monroe County reserves the right to
~ reject any and all bids if the Monroe County Purchasing Manager deems said

action to be in the best interests of Monroe County.

Monroe County intends to award the bid to the lowest responsive and

* responsible bidder, based on the TOTAL. Bidder must bid on all items tobe

considered. The County reserves the right to reject any and all bids if the
Purchasing Manager deems said action to be in the best interest of the
County. : S

Contract will start with the date of the contract award and run through January

-3, 2008, with the option to renew the contract up to nine (9) additional six (6)

month periods at the mutual consent of both partles

Pric_e changes may be proposed by either party no Iater than forty-five (45)
days prior to contract extension, based upon manufacturer price changes
which must be supported with documentation. Should price changes not be
acceptable to both parties, the contract will not be extended Prices may

" change only at the time of extension.

No minimum order is specified for this contract. Agencies must be able to

- order as needed. Political subdivisions and others authorized by law may
. participate in this contract. ‘ o '

All deliveries’ to be F.O.B. Monroe County to agency as specified by a
Purchase Order. Delivery costs must be built into” the unit prices bid.

. Deliveries must be made within one (1) week after receipt of purchase order

number. The County reserves the right to terminate the contract |n the event
the specified delivery time is not met.

DeIiVery of services may _be directed by the receipt of a Pufchase Order only.
items that are not part of this bid will not be paid for by Monroe County.

~ As to all purchase orders issued by Monroe County, exceptions may only be

authorized, in writing, by the Purchasing Manager or his authorized agent prior
to delivery.



BILLING
PROCEDURE:

WARRANTY/
GUARANTEE:

UNCONTEMPLATED

PURCHASES:

SUBCONTRACT:

RELATED ITEMS:

REPORT OF
PURCHASE:

OTHER AGENCIES:

All invoices for items sold any authorized-agency as a result of this contract
must be billed in the foliowing manner: Purchase Order #, Quantity,"
Description of Item Purchased, BP#, ltem #, Extension and Total. ALL
INVOICES MUST BE MARKED WITH THE PURCHASE ORDER NUMBER.
INVOICES WITHOUT THIS INFORMATION WILL NOT BE PROCESSED
FOR PAYMENT.

All warranties by manufacturer shall apply. Bidder shall, as part of its '

- proposal, furnish its warranty/guarantee for all goods/services to be furnished

hereunder. As a minimum, Bidder shall warrant all goods for a.périod of one
(1) year from -date of acceptance. Bidder shall be obligated to repair or
replace all defects in material or workmanship which are discovered or exist
during said period. All labor, parts and transportation shall be at Bidder's
expense. ' ‘

Monroe County reserves the right to request separate bids for such quanfities
of items on this contract that may be best procured via separate public bid
offering and to otherwise act in furthering its own best interests.

The Contractor shall not subeontract any work without first obtaining the
written consent of the Monroe County Purchasing Manager. '

The County reserves the right to add miscellaneous related -'items to this
contract during the contract term upon agreement by both parties as to the

_price. Approval must be given in writing by the Purchasing Manager or his .

Designee.

The Contractor must, upon request, provide the County Purchasing Manager
with detailed information showing how much of each item was delivered, to
any and all agencies under this contract. This includes deliveries tonotonly -
the County but any other municipality or agency which orders from this
contract. ' '

‘The Contractor(s) must honor the prices, terms and conditions of this contract

with political subdivisions or districts located in whole or in part within Monroe

" County. In addition, the contractor may, but is not required to, extend the
‘prices, terms_and conditions _of this contract to any political subdivision or -

distric_:t located in New York State. Usage of this contract by any of these other
political subdivisions or districts will have to be coordinated between that
subdivision or district and the contractor. Orders placed against this contract

- between any subdivision or district will be contracts solely between the

Contractor(s) and those entities. Monroe County will not be responsible for,
nor will it have any liability or other obligation for, such contract between the
Contractor(s) and any third party.



BP0619-07

FASTENERS
UNIT PRICE SHEET

1# |Description Unit |Unit Price**

01 |FINISHED HEX NUTS, 18-8 SS, 1/2-13 EA $0.11
02 |FINISHED HEX NUTS, 18-8 SS, 1/4-20 EA $0.04
03 |FINISHED HEX NUTS, 18-8 SS, 3/4-10 EA $0.37
04 |FINISHED HEX NUTS, 18-8 SS, 3/8-16 EA $0.06
05 |FINISHED HEX NUTS, 18-8 SS, 5/16-18 EA $0.05
06 |FINISHED HEX NUTS, 18-8 SS, 5/8-11 EA $0.26
07 |FINISHED HEX NUTS, 18-8 SS, 7/16-14 EA $0.09
08 |FLAT HEAD PHILLIPS SCREW, 18-8 SS, 1/4-20X1 EA $0.10
09 |FLAT HEAD PHILLIPS SCREW, 18-8 SS,1/4-20X1/2 EA $0.09
10 |FLAT HEAD PHILLIPS SCREW, 18-8 SS,1/4-20X3/4 EA $0.09
11 |FLAT HEAD PHILLIPS SCREW, 18-8 S5,10-24x1 EA $0.06
12 |FLAT HEAD PHILLIPS SCREW, 18-8 SS,10-24X1/2 EA $0.05
13 |FLAT HEAD PHILLIPS SCREW, 18-8 S5,10-24X3/4 EA $0.06
14 |FLAT HEAD PHILLIPS SCREW, 18-8 S§,8-32X1 EA $0.06
15 |FLAT HEAD PHILLIPS SCREW, 18-8 SS,8-32X1/2 EA $0.05
16 |FLAT HEAD PHILLIPS SCREW, 18-8 SS,8-32X3/4 EA $0.05
17 |FLAT WASHER, 18-8 SS, USS, 1/2(1-1/40D) EA $0.08
18 |FLAT WASHER, 18-8 SS, USS, 1/4(11/160D) EA $0.04
19 |FLAT WASHER, 18-8 SS, USS, 3/4(1-7/80D) EA $0.11
20 |FLAT WASHER, 18-8 SS, USS, 3/8(1" OD) EA $0.06
21 |FLAT WASHER, 18-8 SS, USS, 5/16(3/40D) EA $0.05
22 |FLAT WASHER, 18-8 SS, USS, 5/8(1-1/20D) EA $0.09
23 |FLAT WASHER, 18-8 SS, USS, 7/16 (1-1/80D) EA $0.07
24 |HEXHEAD CAP SCREW, 18-8 SS, 1/2-13 X 1" EA $0.22
25 |HEX HEAD CAP SCREW, 18-8 SS, 1/2-13 X 1-1/2" EA $0.29
26 |HEXHEAD CAP SCREW, 18-8 SS, 1/2-13 X 2" EA $0.41
27 |HEXHEAD CAP SCREW, 18-8 SS, 1/2-13 X 2-1/2" EA $0.70
28 |HEX HEAD CAP SCREW, 18-8 SS, 1/4-20 X 1" EA $0.08
29 |HEX HEAD CAP SCREW, 18-8 SS, 1/4-20 X 1/2" EA $0.06
30 |HEXHEAD CAP SCREW, 18-8 SS, 1/4-20 X 1-1/2" EA $0.11
31 |HEX HEAD CAP SCREW, 18-8 SS, 1/4-20 X 2-1/2" EA $0.18
32 |HEXHEAD CAP SCREW, 18-8 SS, 1/4-20 X 3/4" EA $0.07
33 [HEXHEAD CAP SCREW, 18-8 S§, 3/4-10 X 2" EA $1.37
34 |HEXHEAD CAP SCREW, 18-8 SS, 3/4-10 X 2-1/2" EA $1.44
35 |HEXHEAD CAP SCREW, 18-8 SS, 3/4-10 X 3" EA $1.65
36 |HEXHEAD CAP SCREW, 18-8 SS, 3/4-10 X 3-1/2" EA $1.84
37 |HEXHEAD CAP SCREW, 18-8 SS, 3/4-10 X 3-3/4" EA $1.93
38 |HEXHEAD CAP SCREW, 18-8 SS, 3/4-10 X 5-1/2" EA $2.17
39 |HEXHEAD CAP SCREW, 18-8 SS, 3/8-16 X 1" EA $0.19
40 |HEXHEAD CAP SCREW, 18-8 SS, 3/8-16 X 1-1/2" EA $0.22
41 [HEX HEAD CAP SCREW, 18-8 SS, 3/8-16 X 1-1/4" EA $0.20
42 |HEX HEAD CAP SCREW, 18-8 SS, 3/8-16 X 3" EA $0.48
43 |HEX HEAD CAP SCREW, 18-8 SS, 3/8-16 X 3/4" EA $0.18
44 [HEXHEAD CAP SCREW, 18-8 SS, 3/8-16 X 4" EA $0.55
45 |HEX HEAD CAP SCREW, 18-8 SS, 5/16-18 X 1" EA $0.18
46 |HEX HEAD CAP SCREW, 18-8 SS, 5/16-18 X 1/2" EA $0.16
47 |HEX HEAD CAP SCREW, 18-8 SS, 5/8-11 X 2" EA $0.74
48 |HEX HEAD CAP SCREW, 18-8 SS, 5/8-11 X 3" EA $0.81
49 |HEXHEAD CAP SCREW, 18-8 SS, 5/8-11X1-1/2" EA $0.55
50 [HEXHEAD CAP SCREW, 18-8 SS, 5/8-11X2-1/2" EA $0.62
51 |LOCK WASHER, SPLIT, 18-8 SS, MEDIUM, 1/2" C $8.00
52 |LOCK WASHER, SPLIT, 18-8 SS, MEDIUM, 1/4" C $4.00
53 |LOCK WASHER, SPLIT, 18-8 SS, MEDIUM, 3/4" C $11.00
54 |LOCK WASHER, SPLIT, 18-8 SS, MEDIUM, 3/8" C $6.00
55 |LOCK WASHER, SPLIT, 18-8 SS, MEDIUM, 5/16" C $5.00
56 |LOCK WASHER, SPLIT, 18-8 SS, MEDIUM, 5/8" 9 $9.00

Page 1 of 8




BP0619-07
FASTENERS
UNIT PRICE SHEET

1# |Description Unit |Unit Price**

57 |NYLON INSERT LOCKNUT, 18-8 SS, 3/8-16 C $8.00
58 |INYLON INSERT LOCKNUT,18-8 SS,1/4-20 C $5.00
59 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,#10X1/2 TYPE A C $5.00
60 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,#10X2 TYPE A C $8.00
61 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,#10X3/4 TYPE A C $8.00
62 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,#12X1 TYPE A C $7.00
63 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,#12X2 TYPE A C $9.00
64 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,#12X3/4 TYPE A C $6.00
65 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,#14X1 TYPE A C $10.00
66 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,#14X2 TYPE A C $13.00
67 |SLOT PAN HEAD SHT MTL SCREW, 18-8 SS,#6X1 TYPE A C $6.00
68 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,#8X1/2 TYPE A C $4.00
69 [SLOT PAN HEAD SHT MTL SCREW,18-8 SS,#8X3/4 TYPE A C $5.00
70 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,10X1-1/2 TYPE A C $8.00
71 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS5,10X1-1/4 TYPE A C $7.00
72 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,14X1-1/2 TYPE A C $11.00
73 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,8X1-1/2 TYPE A C $7.00
74 |SLOT PAN HEAD SHT MTL SCREW,18-8 SS,8X2 TYPE A C $8.00
75 |SLOT RD MACHINE SCREW,18-8 SS,8-32X1/2 C $5.00
76 |SOCKET HEAD CAP SCREW,18-8 SS,1/4-20X1 C $8.00
77 |THREADED ROD, 18-8 SS, 6' LENGTH, 1"-8 EA $20.30
78 |THREADED ROD, 18-8 SS, 6' LENGTH, 1/2-13 EA $11.62
79 |THREADED ROD, 18-8 SS, 6' LENGTH, 1/4-20 EA $4.20
80 |THREADED ROD, 18-8 SS, 6' LENGTH, 3/4-10 EA $17.85
81 |THREADED ROD, 18-8 SS, 6' LENGTH, 3/8-16 EA $7.50
82 |THREADED ROD, 18-8 SS, 6' LENGTH, 5/8-11 EA $9.80
83 |THREADED ROD, 18-8 SS, 6' LENGTH,5/16-18 EA $4.90
84 |THREADED ROD, 18-8 SS, 6' LENGTH,7/16-14 EA $8.26
85 |RAWL #1101 LAG SHIELD,5/16" LONG,100/BOX BX $17.50
86 |RAWL #1155 LAG SHIELDS,3/8" LONG,100/BOX BX $30.80
87 |RAWL #2216 HEX HEAD, 8-18 X 3/4",100/BOX BX $2.45
88 |RAWL #2225 HEX HEAD, 10-16 X3/4",100/BOX BX $1.05
89 |RAWL #2235 SELF-DRILL SCREW,1/4"X 3/4", 100/BOX BX $6.16
90 |RAWL #2237 SELF-DRILLING SCREW,1/4"-14 X 1", 100/BOX BX $7.00
91 |RAWL #2369 ZIP-IT KIT, 3/8" X 1" EA $5.25
92 |RAWL #2523 NYLON NAILIN,1/4"X1", 100/BOX BX $7.14
93 |RAWL #2523 NYLON NAILIN,1/4"X1", 100/BOX BX $7.14
94 |RAWL #2700 TAPPER HEX HEAD,3/16"X1-1/4", 100/BOX + DRILL BIT BX $4.90
95 |RAWL #2704 TAPPER HEX HEAD,3/16"X2-1/4", 100/BOX + DRILL BIT BX $5.71
96 |RAWL #2708 TAPPER HEX HEAD,3/16"X3-1/4", 100/BOX + DRILL BIT BX $8.75
97 |RAWL #2720 TAPPER HEX HEAD,1/4"X1-1/4", 100/BOX + DRILL BIT BX $6.51
98 |RAWL #2722 TAPPER HEX HEAD,1/4"X1-3/4", 100/BOX + DRILL BIT BX $7.35
99 |RAWL #2724 TAPPER HEX HEAD, 1/4"X1-1/4", 100/BOX + DRILL BIT BX $7.88
100 |RAWL #2728 TAPPER HEX HEAD, 1/4"X3-1/4", 100/BOX + DRILL BIT BX $11.27
101 |RAWL #2740 PHILLIPS HEAD, 3/16"X1-1/4", 100/BOX + DRILL BIT BX $4.90
102 |RAWL #2742 PHILLIPS HEAD, 3/16"X1-3/4", 100/BOX + DRILL BIT BX $5.25
103 |RAWL #2762 PHILLIPS HEAD, 1/4"X1-3/4", 100/BOX + DRILL BIT BX $7.42
104 |RAWL #2764 PHILLIPS HEAD, 1/4"X2-1/4", 100/BOX + DRILL BIT BX $7.95
105 |RAWL #2768 PHILLIPS HEAD, 1/4"X3-1/4", 100/BOX + DRILL BIT BX $11.20
106 |RAWL #2772 PHILLIPS HEAD, 1/4" X 4", 100/BOX + DRILL BIT BX $14.07
107 |RAWL #2783 DRILL BIT-PERMA-SEAL TAPPER, 5/32"X5-1/2" EA $2.45
108 |RAWL #2785 TAPPER DRILL BIT, 3/16"X3-1/2", 10/BOX BX $19.29
109 |RAWL #2786 DRILL BIT- PERMA-SEAL TAPPER, 3/16"X4-1/2" EA $2.24
110 |RAWL #2787 DRILL BIT- PERMA-SEAL TAPPER, 3/16"X5-1/2" EA $2.59
111 |RAWL #2791 TAPCON INSTALLATION TOOL EA $34.30
112 |RAWL #4231 TOGGLE BOLT, 1/4"X3", 50/BOX BX $8.75

Page 2 of 8




BPO0619-07
FASTENERS
UNIT PRICE SHEET

I# |Description Unit |Unit Price**

113 |RAWL #4241 TOGGLE BOLT, 1/4" X 4",50/BOX BX $4.41
114 |RAWL #4251 TOGGLE BOLT, 1/4" X 5",50/BOX BX $12.25
115 |RAWL #4261 TOGGLE BOLT, 1/4" X 6",50/BOX BX $6.58
116 |RAWL #4341 TOGGLE BOLT, 5/16" X4",25/BOX BX $5.25
117 |RAWL #4351 TOGGLE BOLT, 5/16" X5",25/BOX BX $6.09
118 |RAWL #5714 ROD COUPLING;3/8-16" X1-1/4", 100/B0OX BX $7.00
119 [RAWL #5718 THREADED ROD COUPLING, 5/8", 25/BOX BX $7.74
120 |RAWL #6304 STEEL DROP-IN, 1/4", 100/BOX BX $13.30
121 |RAWL #6306 STEEL DROP-IN, 3/8", 50/BOX BX $7.04
122 |RAWL #6307 SETTING TOOL, IN LOTS OF 10 LOT $26.60
123 |RAWL #6308 STEEL DROP-IN, 1/2", 50/BOX BX $18.34
124 |RAWL #6309 SETTING TOOL, IN LOTS OF 10 : LOT $28.00
125 |RAWL #6505 CHEM-STUD, 3/4", 5/BOX BX $14.81
126 |RAWL #6545 CHEM-STUD, 3/4"X9-5/8",10/BOX BX $38.50
127 |RAWL #6902 BOLT GR 5 STEEL 1/4"X1-3/4", 100/BOX BX $7.35
128 |[RAWL #6910 BOLT, GR 5 STEEL, 3/8"X2-1/4", 50/BOX BX $8.09
129 |RAWL #6932 BOLT, GR 5 STEEL, 1/2"X3-3/4", 25/BOX BX $24.08
130 |RAWL #7302 STAINLESS STEEL STUD, 100/BOX BX $54.71
131 |RAWL #7304 STAINLESS STEEL STUD, 100/BOX BX $53.06
132 |RAWL #7310 STAINLESS STEEL STUD, 50/BOX BX $38.50
133 {RAWL #7313 STAINLESS STEEL STUD, 50/BOX BX $40.39
134 |RAWL #7320 STAINLESS STEEL STUD, 50/BOX BX $27.16
135 |RAWL #7323 STAINLESS STEEL STUD, 50/BOX BX $42.70
136 |RAWL #7344 STAINLESS STEEL STUD, 50/BOX BX $15.51
137 [RAWL #7400 STUD; 1/4" X 1-3/4", 100/BOX BX $14.77
138 |RAWL #7410 STUD; 3/8" X 2-1/4", 50/BOX BX $11.31
139 |RAWL #7413 STUD; 3/8" X 3", 50/BOX BX $12.81
140 |RAWL #7420 STUD; 1/2" X 2-3/4", 50/BOX BX $20.23
141 |RAWL #7423 STUD; 1/2" X 4-1/2", 50/BOX BX $25.34
142 |[RAWL #7424 STUD; 1/2" X 5-1/2", 50/BOX BX $28.36
143 |RAWL #7432 STUD; 5/8" X 4-1/2", 25/BOX BX $21.00
144 |RAWL #7433 STUD; 5/8" X 5", 25/BOX BX $21.70
145 |RAWL #7434 STUD; 5/8" X 6", 25/BOX BX $24.15
146 |RAWL #7442 STUD; 3/4" X 5-1/2", 20/BOX BX $25.97
147 |RAWL #7446 STUD; 3/4" X 7", 20/BOX BX $33.01
148 |RAWL #7463 STUD, 1" X 9" EA $4.38
149 |RAWL #7559 BANTAM PLUG; 6-8X3/4",100/BOX BX $0.63
150 |RAWL #7569 BANTAM PLUG;8-10X7/8",100/BOX BX $0.67
151 [RAWL #7579 BANTAM PLUG; 10-12X1",100/BOX BX $0.81
152 |RAWL #7589 BANTAM PLUG; 14-16X1-1/2", 100/BOX BX $1.83
153 |RAWL #7742 GALVANIZED RAWL-STUD, 20/BOX BX $28.14
154 |RAWL #8934 BANTAM ANCHOR KIT, #8 X 1" KIT $2.87
155 |RAWL #8936 BANTAM ANCHOR KIT, #10 X 1" KIT $3.36
156 |RAWL #8938 BANTAM ANCHOR KIT, #12 X 1" KIT $3.78
157 |RAWL #9320 HOLLOW SET DROP-IN, 1/4", 100/BOX BX $10.15
158 |RAWL #9323 H/S DROP-IN SETTING TOOL,1/4" EA $12.39
159 |RAWL #9330 HOLLOW SET DROP-IN, 5/16", 100/BOX BX $10.50
160 |RAWL #9333 HOLLOW SET TOOL, 5/16" EA $13.30
161 |RAWL #9340 HOLLOW SET DROP-IN, 3/8", 100/BOX BX $12.95
162 |RAWL #9343 H/S DROP-IN SETTING TOOL,3/8" EA $1.51
163 |RAWL #9350 HOLLOW SET DROP-IN, 1/2", 100/BOX BX $15.75
164 {RAWL #9353 HOLLOWSET TOOL, 1/2" EA $8.75
165 |RAWL #9363 HOLLOW SET TOOL, 3/8" ' EA $22.54
166 |RAWL #9510 DOUBLE BOLT ANCHOR,1/4",50/BOX BX $5.81
167 |RAWL #9520 ANCHOR BOLT, 3/8", 50/BOX BX $14.88
168 |RAWL #9525 DOUBLE BOLT ANCHOR,1/2",25/BX BX $13.58

Page 3 of 8




BP0619-07
FASTENERS
UNIT PRICE SHEET

l# |Description Unit |Unit Price**

169 |RAWL #9530 DOUBLE BOLT ANCHOR,5/8",25/BX BX $18.20
170 |[RAWL #9535 DOUBLE BOLT ANCHOR,3/4",10/BX BX $15.05
171 |[RAWL #9650 BOLT ANCHOR, /4", 50/BOX BX $6.44
172 |RAWL #9655 BOLT ANCHOR, 5/16", 50/BOX BX $9.21
173 |RAWL #9665 BOLT ANCHOR, 3/8", 50/BOX BX $9.98
174 |RAWL. #9675 BOLT ANCHOR, 1/2", 25/BOX BX $10.99

175 |CARRIAGE BOLTS, GR 2, PLATED, 1/4-20 X 1 $3.00

176 |CARRIAGE BOLTS, GR 2, PLATED, 1/4-20 X 1-1/4 $3.00

177 |CARRIAGE BOLTS, GR 2, PLATED, 1/4-20 X 2 $4.00

178 |{CARRIAGE BOLTS, GR 2, PLATED, 1/4-20 X 3/4 $3.00

179 |CARRIAGE BOLTS, GR 2, PLATED, 1/4-20 X 4 $7.00

180 |CARRIAGE BOLTS, GR 2, PLATED, 1/4-20 X5 $9.00

181 |CARRIAGE BOLTS, GR 2, PLATED, 3/8-16 X3 $13.00

182 |CARRIAGE BOLTS, GR 2, PLATED, 3/8-16 X 4 $16.00

183 |CARRIAGE BOLTS, GR 2, PLATED, 3/8-16 X6 $24.00

185 |CARRIAGE BOLTS, GR 2, PLATED, 5/16-18 X 3-1/2 $10.00

186 |CARRIAGE BOLTS, GR 2, PLATED, 5/16-18 X 4 $11.00

187 |CARRIAGE BOLTS, GR 5, PLATED, 3/8-16 X 1 $11.00

188 |CARRIAGE BOLTS, GR 5, PLATED, 3/8-16 X 1-1/4 $12.00

189 |CARRIAGE BOLTS, GR 5, PLATED, 3/8-16 X 3/4 $10.00

190 |CARRIAGE BOLTS, GR 5, PLATED, 5/16-18 X 1-1/4 $9.00

191 |CARRIAGE BOLTS, GR 5, PLATED, 5/16-18 X 3/4 $7.00

C
C
C
Cc
C
C
C
C
C
184 |CARRIAGE BOLTS, GR 2, PLATED, 5/16-18 X 1-3/4 C $6.00
C
C
C
C
C
C
C
C
Cc

192 |COTTER PIN, 1/8"X2", HAMMER-LOCK, C1008 STEEL $1.00
193 |COTTER PIN, 3/16"X2", HAMMER-LOCK, C1008 STEEL $3.00
194 |ELECTRO ZINC-PLATE THREADED STEEL ROD,1/2-13, 6' EA $5.85
195 |ELECTRO ZINC-PLATE THREADED STEEL ROD,1/4-20, 6' EA $2.91
196 |ELECTROQO ZINC-PLATE THREADED STEEL ROD,1-1/2-6,6' EA $12.60
197 |ELECTRO ZINC-PLATE THREADED STEEL ROD,1-1/4-7, €' EA $25.69
198 |[ELECTRO ZINC-PLATE THREADED STEEL ROD,1-1/8-7, &' EA $10.85
199 |[ELECTRO ZINC-PLATE THREADED STEEL ROD,1-8,6' | EA $14.67
200 |ELECTRO ZINC-PLATE THREADED STEEL ROD,3/4-10, 6' EA $8.05
201 |ELECTRO ZINC-PLATE THREADED STEEL ROD,3/8-16, 6' EA $4.38
202 |ELECTRO ZINC-PLATE THREADED STEEL ROD,5/16-18,6' EA $3.64
203 |ELECTRO ZINC-PLATE THREADED STEEL ROD,5/8-11, 6' EA $7.32
204 |ELECTRO ZINC-PLATE THREADED STEEL ROD,7/16-14,6' EA $5.11
205 |ELECTRO ZINC-PLATE THREADED STEEL ROD,7/8-9,6' EA $9.52
206 |ELECTRO ZINC-PLATE THREADED STEEL ROD,9/16-12,6' EA $6.58
207 |FENDER WASHER, Z/P, 1/2"; 17/32" ID, 2" OD;1/16" THK C $8.00
208 |FENDER WASHER, Z/P, 1/4"; 9/32" ID, 1-1/2" OD;3/64" THK C $6.00
209 |FENDER WASHER, Z/P, 1/4"; 9/32" ID, 1-1/4" OD;1/16" THK C $5.00
210 |FENDER WASHER, Z/P, 3/8"; 13/32" ID, 1-1/2" OD;3/64" THK C $6.00
211 |[FENDER WASHER, Z/P, 5/16"; 11/32" ID, 1-1/4" OD;1/8" THK C $4.00
212 |HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X1" C $24.00
213 |HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X1-1/2" C $28.00
214 |HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X1-1/4" C $27.00
215 |HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X1-3/4" C $31.00
216 |HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X2" C $32.00
217 |HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X2-1/2" C $34.00
218 |HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X3-1/2" C $73.00
219 |HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X3-1/4" C $69.00
220 |HEX HEAD CAP SCREW GR 5 Z/P,1/2"-13X4" C $97.00
221 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X1" C $5.00
222 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X1/2" C $4.00
223 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X1-1/2" C $7.00
224 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X1-1/4" C $7.00

Page 4 of 8




BP0619-07
FASTENERS
UNIT PRICE SHEET

I# |Description Unit |Unit Price**
225 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X1-3/4" C $8.00
226 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X2" C $8.00
227 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X2-1/2" C $10.00
228 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X3" C $13.00
229 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X3/4" C $5.00
230 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X3-1/2" C $25.00
231 [HEX HEAD CAP SCREW GR 5 Z/P,1/4"-20X4" C $26.00
232 |HEX HEAD CAP SCREW GR 5 Z/P,1/4"-28X1" Cc $11.00
233 |HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X2" C $71.00
234 |HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X2-1/2" C $81.00
235 |HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X3" C $88.00
236 |HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X3-1/2" C $97.00
237 |HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X3-1/4" C $91.00
238 |HEX HEAD CAP SCREW GR 5 Z/P,3/4"-10X4" C $105.00
239 |HEX HEAD CAP SCREW GR 5 2/P,3/4"-10X6" C - $143.00
240 |HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X1" Cc $13.00
241.|HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X1-1/2" C $14.00
242 |HEX HEAD CAP SCREW GR 5 7/P,3/8"-16X1-1/4" Cc $13.00
243 {HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X2" Cc $15.00
244 |HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X2-1/4" C $16.00
245 |HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X2-3/4" C $18.00
246 |HEX HEAD CAP SCREW GR 5 2/P,3/8"-16X3" C $19.00
247 {HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X3/4" Cc $12.00
248 |HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X4" C $48.00
249 {HEX HEAD CAP SCREW GR 5 7/P,3/8"-16X4-1/2" C $58.00
250 |[HEX HEAD CAP SCREW GR 5 Z/P,3/8"-16X5-1/2" C $67.00
251 |HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X1" C $9.00
252 |HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X1" C $9.00
253 |HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X1/2" C $8.00
254 |HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X1-1/2" C $11.00
255 |HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X1-3/4" C $11.00
256 |HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X2" C $12.00
257 |HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X2-1/2" C $13.00
258 |HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X3" C $15.00
259 |HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X3/4" C $8.00
260 {HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X3-1/2" C $27.00
261 [HEX HEAD CAP SCREW GR 5 Z/P,5/16"-18X4" C $31.00
[262 |HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X1-1/2" C $58.00
263 {HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X1-3/4" C $64.00
264 |HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X2" C $64.00
265 |HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X2-1/2" C $72.00
266 |HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X2-3/4" C $77.00
267 |HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X3" C $79.00
268 {HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X3-1/2" C $88.00
269 |HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X4" C $95.00
270 {HEX HEAD CAP SCREW GR 5 Z/P,5/8"-11X6" C $134.00
271 {HEX HEAD CAP SCREW GR 5 Z/P,7/16"-14 X 1", C $19.00
272 {HEX HEAD CAP SCREW GR 5 Z/P,7/16"-14X1-1/2" C $22.00
273 |HEX HEAD CAP SCREW GR 5 Z/P,7/16"-14X1-1/4" Cc $20.00
274 {HEX HEAD CAP SCREW GR 5 Z/P,7/16"-14X1-3/4" C $24.00
275 |HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X2-1/2" C $112.00
276 |HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X3" C $138.00
277 {HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X3-1/2" C $144.00
278 |HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X4" C $161.00
279 |HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X4-1/2" Cc $161.00
280 |HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X5" C $175.00

Page 5 of 8




BP0619-07

FASTENERS
UNIT PRICE SHEET

l# |Description Unit |Unit Price**

281 |HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X5-1/2" C $175.00
282 |HEX HEAD CAP SCREW GR 5 2/P,7/8"-9X6" C $218.00
283 |HEX HEAD CAP SCREW GR 5 Z/P,7/8"-9X7" C $258.00
284 |HEX HEAD CAP SCREW GR 8 Z/P,1/2"-13X1-1/2" C $31.00
285 |HEX HEAD CAP SCREW GR 8 Z/P,3/8"-16X1-1/2" C $15.00
286 |HEX HEAD CAP SCREW GR 8, Z/P,1/2"-13X2" C $36.00
287 |HEX HEAD CAP SCREW GR 8, Z/P,5/8"-11X3" C $88.00
288 {HEX HEAD CAP SCREW GR 8, Z/P,5/8"-11X4" C $104.00
289 |HEX HEAD LAG SCREW, Z/P, 1/4" X 1-3/4" C $6.00
290 |HEX HEAD LAG SCREW, Z/P, 1/4" X 2" C $8.00
291 |HEX HEAD LAG SCREW, Z/P, 1/4" X 3" C $11.00
292 |HEX HEAD LAG SCREW, Z/P, 1/4" X 4" C $14.00
293 |HEX HEAD LAG SCREW, Z/P, 3/8" X 3-1/2" C $25.00
294 |HEX HEAD LAG SCREW, Z/P, 5/16" X 2" C $11.00
295 |HEX HEAD LAG SCREW, Z/P, 5/16" X 3" C $13.00
296 |HEX HEAD LAG SCREW, Z/P, 5/16" X 4" C $18.00
297 |[HEX NUT ,FINISHED FULL,GR 5,Z/P,3/8"-24 C $5.00
298 |HEX NUT, FINISHED FULL,GR 2,2/P,1/4"-20 C $2.00
299 |HEX NUT, FINISHED FULL,GR 2,Z/P,3/8"-16 C $4.00
300 |HEX NUT, FINISHED FULL,GR 2,Z/P,5/16"-18 C $3.00
301 |HEX NUT, FINISHED FULL,GR 5 Z/P,5/16"-18 C $3.00
302 |HEX NUT, FINISHED FULL,GR 5 Z/P,5/16"-24 C $4.00
303 |HEX NUT, FINISHED FULL,GR 5 Z/P,7/16"-14 C $5.00
304 |HEX NUT, FINISHED FULL,GR 5,Z/P,1/2"-13 C $6.00
305 |HEX NUT, FINISHED FULL,GR 5,Z/P,1-1/4"-7 C $59.00
306 |HEX NUT, FINISHED FULL,GR 5,Z/P,3/4"-10 C $18.00
307 |HEX NUT, FINISHED FULL,GR 5,Z2/P,3/8"-16 C $4.00
308 |HEX NUT, FINISHED FULL,GR 5,Z/P,5/8"-11 C $11.00
309 |HEX NUT, FINISHED FULL,GR 5,2/P,7/8"-9 C $26.00
310 |[HEX NUT, FINISHED FULL,GR 5,2/P1/4"-20 C $2.00
311 |HEX NUT, FINISHED FULL,GR 8,2/P,1/2"-13 C $6.00
312 |HEX NUT, FINISHED FULL,GR 8,Z/P,1/4"-20 C $3.00
313 |HEX NUT, FINISHED FULL,GR 8,Z/P,3/8"-16 C $4.00
314 |HEX NUT, FINISHED FULL,GR 8,2/P,5/16"-18 C $4.00
315 |HEX NUT, FINISHED FULL,GR 8,Z/P,7/16"-14 C $5.00
316 |HIGH STRENGTH WASHER, 1035 STEEL,1/4" C $6.00
317 |HIGH STRENGTH WASHER, 1035 STEEL,3/4" C $33.00
318 |HIGH STRENGTH WASHER, 1035 STEEL,3/8" C $8.00
319 |HIGH STRENGTH WASHER, 1035 STEEL,5/16" C $7.00
320 [LOCK WASHER, SPLIT, ZZCHROM PLATE, #10 C $1.00
321 |LOCK WASHER, SPLIT, Z/CHROM PLATE, #12 C $1.00
322 [LOCK WASHER, SPLIT, Z/CHROM PLATE, #6 C $1.00
323 |LOCK WASHER, SPLIT, ZZCHROM PLATE, #8 C $1.00
324 |LOCK WASHER, SPLIT, Z/CHROM PLATE, 1/2 C $5.00
325 |LOCK WASHER, SPLIT, Z/CHROM PLATE, 1/4 C $1.00
326 {LOCK WASHER, SPLIT, Z/CHROM PLATE, 3/4 C $12.00
327 |LOCK WASHER, SPLIT, ZZCHROM PLATE, 3/8 C $3.00
328 |LLOCK WASHER, SPLIT, ZZCHROM PLATE, 5/16 C $2.00
329 |LOCK WASHER, SPLIT, ZZCHROM PLATE, 5/8 C $9.00
330 {LOCK WASHER, SPLIT, ZZCHROM PLATE, 7/16 C $4.00
331 |LOCK WASHER, SPLIT, Z/CHROM PLATE, 9/16 C $8.00
332 |MACHINE SCREW HEX NUTS, STEEL, Z/P,#4-40 C $2.00
333 |MACHINE SCREW HEX NUTS, STEEL, Z/P #6-32 C $2.00
334 |MACHINE SCREW HEX NUTS, STEEL, Z/P,#8-32 C $2.00
335 |MACHINE SCREW HEX NUTS, STEEL,Z/P,#10-24 C $2.00
336 |MACHINE SCREW HEX NUTS, STEEL,Z/P,#10-32 C $2.00

Page 6 of 8




BP0619-07
FASTENERS
UNIT PRICE SHEET

I# |Description Unit |Unit Price**
337 {IMACHINE SCREW HEX NUTS, STEEL,Z/P,#12-24 ] $2.00
338 |NYLON INSERT STOP NUT, Z/P, GR 2, 12-24 C $3.00
339 [NYLON INSERT STOP NUT, Z/P, GR 2, 8-32 C $3.00
340 |[NYLON INSERT STOP NUT, Z/P,GR 2,1/2"-13 C $9.00
341 INYLON INSERT STOP NUT, Z/P,GR 2,1/4"-20 C $4.00
342 |INYLON INSERT STOP NUT, Z/P,GR 2,10-24 USS C $3.00
343 [NYLON INSERT STOP NUT, Z/P,GR 2,3/8"-16 C $5.00
344 |INYLON INSERT STOP NUT, Z/P,GR 2,3/8"-24 C $11.00
345 INYLON INSERT STOP NUT, Z/P,GR 2,5/16"-18 C $4.00
346 |NYLON INSERT STOP NUT, Z/P,GR 2,7/16"-14 C $6.00
347 |SAE FLAT WASHER,GR 2,ZINC CHROM PL #6 C $2.00
348 |SAE FLAT WASHER,GR 2,ZINC CHROM PL #8 C $2.00
349 |SAE FLAT WASHER,GR2,Z/CHROM PLATE, #10 C $2.00
350 |SAE FLAT WASHER,GR2,Z/CHROM PLATE,1/2" C $6.00
351 |SAE FLAT WASHER,GR2,Z/CHROM PLATE,1/4" C $3.00
352 |SAE FLAT WASHER,GR2,Z/CHROM PLATE,3/8" C $4.00
353 |SAE FLAT WASHER,GR2,Z/CHROM PLATE,5/16" C $4.00
354 |SAE FLAT WASHER,GR2,Z/CHROM PLATE,7/16" C $5.00
355 |SLOT HEX WASHER HEAD TAP SCREW, 12 X3/4" C $4.00
356 |SLOT HEX WASHER HEAD TAP SCREW,12 X 1-1/4" C $6.00
1357 {SLOT HEX WASHER HEAD TAP SCREW,5/16" X 1 C $7.00
358 |SLOT HEX WASHER HEAD TAP SCREW,ZC,10X1/2" C $4.00
1359 |SLOT HEX WASHER HEAD TAP SCREW,ZC,10X1-1/2" C $5.00
360 |SLOT HEX WASHER HEAD TAP SCREW,ZC,8X1/2" Cc $3.00
361 |SLOT HEX WASHER HEAD TAPP SCREW,ZC,10X1 C $4.00
362 |SLOT HEX WASHER HEAD TAPP SCREW,ZC,8X1-1/4 C $4.00
363 |SLOT RD HEAD MACHINE SCREW 1/4-20 X 1" C $6.00
364 |SLOT RD HEAD MACHINE SCREW 1/4-20 X 1/2" C $4.00
365 |SLOT RD HEAD MACHINE SCREW 1/4-20 X 1-1/2" C $7.00
366 |SLOT RD HEAD MACHINE SCREW 1/4-20 X 2" C $9.00
367 |SLOT RD HEAD MACHINE SCREW 1/4-20 X 4" C $12.00
368 |SLOT RD HEAD MACHINE SCREW 10-24 X 1" C $4.00
369 |SLOT RD HEAD MACHINE SCREW 10-24 X 1/2" C $4.00
370 {SLOT RD HEAD MACHINE SCREW 10-24 X 2" C $6.00
371 |SLOT RD HEAD MACHINE SCREW 10-24 X 3/4" C $4.00
372 |SLOT RD HEAD MACHINE SCREW 10-24X1-1/2" C $5.00
373 |SLOT RD HEAD MACHINE SCREW 10-32 X 1-1/2" C $6.00
374 |SLOT RD HEAD MACHINE SCREW 10-32 X 2" C $6.00
375 |SLOT RD HEAD MACHINE SCREW 10-32 X 3/4" C $4.00
376 |SLOT RD HEAD MACHINE SCREW 10-32 X 3/8" C $3.00
377 |SLOT RD HEAD MACHINE SCREW 12-24 X 1" C $6.00
378 |SLOT RD HEAD MACHINE SCREW 12-24 X 1/2" C $4.00
379 |SLOT RD HEAD MACHINE SCREW 12-24 X 2" C $7.00
380 |SLOT RD HEAD MACHINE SCREW 12-24 X 3/4" C $6.00
381 |SLOT RD HEAD MACHINE SCREW 6-32 X 1" C $3.00
382 |SLOT RD HEAD MACHINE SCREW 6-32 X 1/2" C $3.00
383 |SLOT RD HEAD MACHINE SCREW 6-32 X 1-1/2" C $4.00
384 |SLOT RD HEAD MACHINE SCREW 6-32 X 2" C $8.00
385 |SLOT RD HEAD MACHINE SCREW 6-32 X 3/4" C $3.00
386 |SLOT RD HEAD MACHINE SCREW 8-32 X 1" Cc $4.00
387 |SLOT RD HEAD MACHINE SCREW 8-32 X 1/2" C $4.00
388 |SLOT TAPPING SCREW,PAN HEAD,ZC, 10X1/2" C $4.00
389 |SLOT TAPPING SCREW,PAN HEAD,ZC, 10X3/4" C $4.00
390 |SLOT TAPPING SCREW,PAN HEAD,ZC, 12X1/2" C $4.00
391 |SLOT TAPPING SCREW,PAN HEAD,ZC, 12X1-1/2" C $6.00
392 |SLOT TAPPING SCREW,PAN HEAD,ZC, 12X1-1/42" C $6.00

Page 7 of 8




BP0619-07

FASTENERS
UNIT PRICE SHEET

I# |Description Unit |Unit Price**
393 {SLOT TAPPING SCREW,PAN HEAD,ZC, 14X1-1/2" C $7.00
394 |SLOT TAPPING SCREW,PAN HEAD,ZC, 4X1/2" C $3.00
395 |SLOT TAPPING SCREW,PAN HEAD,ZC, 6 X1" C $3.00
396 |SLOT TAPPING SCREW,PAN HEAD,ZC, 6X1-1/4" C $3.00
397 |SLOT TAPPING SCREW,PAN HEAD,ZC, 6X3/4" C $3.00
398 |SLOT TAPPING SCREW,PAN HEAD,ZC, 6X3/8" C $3.00
399 [SLOT TAPPING SCREW,PAN HEAD,ZC, 8X1" Cc $4.00
400 |SLOT TAPPING SCREW,PAN HEAD,ZC, 8X1/2" C $4.00
401 |SLOT TAPPING SCREW,PAN HEAD,ZC, 8X1-1/2" Cc $4.00
402 |SLOT TAPPING SCREW,PAN HEAD,ZC, 8X3/8" C $4.00
403 [USS FLAT WASHER,GR 2,Z/CHROM PLATE,1" C $29.00
404 {USS FLAT WASHER,GR2,Z/CHROM PLATE #10 C $2.00
405 |USS FLAT WASHER,GR2,Z/CHROM PLATE,#12 C $3.00
406 |USS FLAT WASHER,GR2,Z/CHROM PLATE,1/2" C $9.00
407 |USS FLAT WASHER,GR2,Z/CHROM PLATE,1/4" C $3.00
408 |USS FLAT WASHER,GR2,Z/CHROM PLATE,3/4" Cc $18.00
409 |USS FLAT WASHER,GR2,Z/CHROM PLATE,3/8" C $4.00
410 |USS FLAT WASHER,GR2,Z/CHROM PLATE,5/16" C $4.00
411 |USS FLAT WASHER,GR2,Z/CHROM PLATE,5/8" C $13.00
412 |USS FLAT WASHER,GR2,Z/CHROM PLATE,7/16" Cc $6.00
413 |USS FLAT WASHER,GR2,Z/CHROM PLATE,7/8" C $26.00

USS FLAT WASHER,GR2,Z/CHROM PLATE,9/16" C $11.00

414

Page 8 of 8




